I

o o o o a

_— EHEEHE e e

00000000000000000000 o o

|- —I.4.} 0 o

X1 000000000000C0O0 [-X-3

-X-1 ©0000||]O0O0OOC|]|OOCOO - X-3

X1 ©0000[|]loo0oOO[]|]OoCOO [-X-3

o0 0000000000000 OC o0

-X-N-] o o o000

X1 000000000000C00 [-X-3 L < D ’
-X-1 ©0000O||O0O0OOC||OOCOO - X-3 -3 o [

-X-1 ©000OO0O||O0OOOC||O0COO o0

o0 0000000000000 o0 - <

Orr—o o o o o o9 —_— e s ] s e o e

X1 0000000000000 0 [-X-3

o0 ©000O0||0o0OOC||OOCGOO o0 oo o o=

-X-1 ©000OO0O||O0OOOC||O0COO o0 oo coo0o0 o000 oo0oo0o0o||lo0O

X1 0000000006000 6060 [-X-3 oo KX X3 [ X X X ] eeeo||/oo

000 o o 000 X3 000000000 0000000

-X-1 000000000000 0CO0 o0 o000 o o LX-XJ

o0 ©0000||o0OOC||OOCOO o0 oo 0000 0000 0000000

-X-1 ©0000||O00O0OC||O0O0OCOO - X-3 oo 0000 0000 co0o0o0||loO

X1 000000000000C00 [-X-3 oo N-X-N-1 0000 co0o0o0||joO

000 o o 000 - X3 0000 0000 0000000

-X-1 000000000000 0CO0 o0 o000 o o LX-XJ

X1 0000||oO0OO||OCGOO [-X-3 1) o oo N-X-N-1 0000 0000000

-X-1 ©0000||O00O0OOC||O0OCOO - X-3 oo 0000 0000 co0o0o0||loO

-X-1 000000000000 0C0 o0 oo coo0o0 o000 oo0o0o0||OoO

o0 o o o o ox - X3 0000 0000 0000000

-X-1 000000000000 0CO0 o0 [= —12-] -] o LN ]— =}

[-X-] cooool|looool|loocoo 00 (- X3 - N-N-X-] 0000 0000000

-X-] 0o0o0o0|J]ooool|joocool||o - X} 0000 0000 0000|000

000000000000 0CO0 CR-X-X- -N-N-X-] 0000

0 0C—30 0 Or—]0 0 O 1 - N-N-X.] 000000

000000000000 Q0 030 O O30 0 O

° o o oo oo oOooOooOoo =
o 00 - X-3 X3 (-] © 0 - X o0 i

|k
A B C D E F G Pde | Weight

Type of MEDIA enclosure

yp [mm] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm] | [W] [ka]
ECM36PO MEDIA-MOD 462 273 68 125 283 482 106 63 2,65

ECM48PO MEDIA-2x MOD 656

273

68

125

283

676

106

63

2,90

ECM 3x18PO MEDIA-MOD 503

382

68

125

392

522

106

63

2,90

For indoor locations (£ 50% RH at max. +40°C or for example 90% RH at +20°C)
Temperature range: -25°C ... +60°C, Rating Voltage AC 400V; IP40; Class II; IKO8
According to: IEC 60670; IEC 62208

SWITCH TO
A SAFE FUTURE

900008REELRE

Mounting instructions
Montage anleitung
Navodilo za montazo
Instrukcje montazu
Upute za montazu
Montazni navod
Navod na montaz
Szerelesi utmutato
Montavimo instrukcija
MHCTpyKUMA 38 MOHTaX
Montazas instrukcija
Paigaldusjuhend

www.etigroup.eu

Przyktadowy widok obudéw ECM MEDIA MOD

ETI Elektroelement d.o.o.

Obrezija 5
1411 Izlake

Slovenia

ETI Polam Sp. z 0.0.
ul. Jana Pawta Il 18
06-100 Puttusk
Polska




Assembly of ECM MEDIA 1xMOD enclosure

z
o

Type

Bottom of ECT enclosure

Mounting plate with socket

Tapping screw

Front of ECT enclosure

Tapping screw

Door of ECT enclosure

DIN Rail TH35

Wlo|(N[o|ja|s|lw([N|-

PE/N Terminal

o
hl—\»—‘»—‘.l;»—ico»—‘»—‘g

Mounting bracket

No. Type Name Pcs.
1 EGN-1BS/00 / EGN-1BZ/00 Socket 1
2 M4x10 WW-PZ-B DIN7985 Screw M4 DIN7985 2
3 P4.0X9.0x0.8B DIN125 Washer M4 DIN125 2
4 NM 4B DIN934 Nut M4 DIN934 2

@ - first mounting position

@ - other mounting positions

Assembly of ECM MEDIA 2xMOD enclosure

N
\4)

Socket instalation on the mounting plate

z
o

Type

o
2}
ld

Bottom of ECT enclosure

Mounting plate with socket

Tapping screw

Front of ECT enclosure

Tapping screw

Door of ECT enclosure

DIN Rail TH35

PE/N Terminal

OO (N[o|O|B[WIN|-

Mounting bracket

NI TR INY P ENY P SN P

No. Type Name Pcs.
1 EGN-1BS/00 / EGN-1BZ/00 Socket 1
2 M4x10 WW-PZ-B DIN7985 Screw M4 DIN7985 2
3 P4.0X9.0x0.8B DIN125 Washer M4 DIN125 2
4 NM 4B DIN934 Nut M4 DIN934 2

@ - first mounting position

. - other mounting positions




